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Model Summary 

Model 
R R Square 

Adjusted R 
Square 

Std. Error of the 
Estimate 

dimension0 
 

1 .789a .623 .616 
 

.27718 

a. Predictors: (Constant), SAT, high_GPA 

 

 
ANOVAb 

Model Sum of Squares df Mean Square F Sig. 
Regression 12.961 2 6.481 84.349 .000a 
Residual 7.837 102 .077   

1 

Total 20.798 104    
a. Predictors: (Constant), SAT, high_GPA 
b. Dependent Variable: univ_GPA 

 

 
Coefficientsa 

Unstandardized Coefficients 
Standardized 
Coefficients 95.0% Confidence Interval for B 

Model 

B Std. Error Beta t Sig. Lower Bound Upper Bound 
(Constant) .540 .318  1.699 .092 -.091 1.170 
high_GPA .541 .084 .625 6.465 .000 .375 .708 

1 

SAT .001 .000 .198 2.047 .043 .000 .002 
	
  


